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1. What is a characteristic of packet delivery in TCP?
A. Packets may arrive out of order, but can be reassembled.
B. All packets must arrive simultaneously for communication to

succeed.
C. TCP does not support delivery of multiple packets at once.
D. Every packet sent will arrive without the need for reordering.

2. Which of the following is NOT a characteristic of Public
Key Cryptography?
A. A key for decrypting is never made public.
B. Using public key guarantees that only the intended recipient

can decrypt the message.
C. A Public Key database ensures 3rd party accountability of

security.
D. Allows secure communication without establishing a shared

encryption key ahead of time.

3. Which statements about programming languages are true?
A. Ambiguities in natural language necessitate the creation of

programming languages for controlling a computer.
B. Compared to the number of words in a natural language, the

number of defined words in a programming language is very
small.

C. The number of defined words in a programming language is
about the same as the number of words in a natural language.

D. There are typically many possible ways to interpret an
instruction written in a programming language.

4. Which of the following is NOT a characteristic of
blockchain technology?
A. Decentralized nature
B. Immutability
C. Ease of alteration
D. Transparency
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5. What does "user interface" (UI) refer to?
A. The user's experience with hardware components
B. The software's graphical design
C. The means by which a user interacts with a system
D. The underlying code of an application

6. What does the character 'V' represent in ASCII, given its
decimal value?
A. A
B. L
C. V
D. Y

7. What does it mean when a system is described as
"decentralized"?
A. It is managed by a single entity
B. It distributes control and data across multiple locations
C. It requires a dedicated server for operations
D. It limits user access to certain features

8. What is an algorithm in the context of computer science?
A. A step-by-step procedure for solving a problem or completing

a task
B. A type of computer hardware used for calculations
C. A programming language used for developing software
D. A method for managing computer memory

9. What does user experience (UX) in software design refer
to?
A. The aesthetic appeal of a product
B. The overall experience a user has with a product
C. The marketing strategy behind a product
D. The technical specifications of the software
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10. When representing data, what does the hexadecimal
system allow for?
A. Using 10 digits (0-9) only.
B. Using 16 different digits (0-9, A-F) for efficiency.
C. Representing only integer values.
D. Utilizing binary exclusively for all representations.
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1. A
2. C
3. A
4. C
5. C
6. C
7. B
8. A
9. B
10. B
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Explanations
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1. What is a characteristic of packet delivery in TCP?
A. Packets may arrive out of order, but can be reassembled.
B. All packets must arrive simultaneously for communication to

succeed.
C. TCP does not support delivery of multiple packets at once.
D. Every packet sent will arrive without the need for reordering.

In TCP (Transmission Control Protocol), one key characteristic is that packets may arrive
out of order due to the nature of how data is transmitted over networks. However, TCP is
designed to handle this by providing mechanisms for reassembling the packets in the
correct order at the destination. This is achieved through the use of sequence numbers
assigned to each packet, which allow the receiving end to reorder the packets as they
arrive.  The ability to reassemble packets that have arrived out of order is essential for
maintaining data integrity and ensuring that the original message is reconstructed
correctly, even if the underlying network does not guarantee the order of packet delivery.
TCP also includes error detection and retransmission of lost packets, adding to its
reliability.  Other options suggest characteristics that do not accurately reflect how TCP
operates. For example, it is not necessary for all packets to arrive simultaneously for
communication to be successful, nor does TCP support the notion that no packets can be
delivered simultaneously. Furthermore, the idea that every packet will arrive without
needing to be reordered contradicts the very nature of how packet-switched networks
function, which is fundamental to TCP's design.

2. Which of the following is NOT a characteristic of Public
Key Cryptography?
A. A key for decrypting is never made public.
B. Using public key guarantees that only the intended recipient

can decrypt the message.
C. A Public Key database ensures 3rd party accountability of

security.
D. Allows secure communication without establishing a shared

encryption key ahead of time.
Public Key Cryptography, also known as asymmetric cryptography, relies on a pair of
keys: a public key and a private key. Each key performs a specific function in the
encryption and decryption processes, allowing secure communication.  The choice stating
that a public key database ensures third-party accountability of security is not a
characteristic of Public Key Cryptography. While public keys can be stored and
distributed through different means, such as certificates, the core functionality of public
key cryptography does not inherently rely on a public key database for accountability.
Accountability and security might be enhanced with proper key management practices,
but these are not intrinsic to the public key system itself.  The other options illustrate
key aspects of how Public Key Cryptography operates. For instance, the fact that a
decryption key is never made public emphasizes the security model where only the
intended recipient possesses the private key needed to decrypt. Guaranteeing that only
the intended recipient can decrypt the message is a fundamental tenet of how
asymmetric encryption secures communications. Furthermore, the ability to allow secure
communication without pre-sharing a common encryption key highlights one of the
attractive features of this cryptography method, enabling straightforward secure
exchanges over insecure channels.
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3. Which statements about programming languages are true?
A. Ambiguities in natural language necessitate the creation of

programming languages for controlling a computer.
B. Compared to the number of words in a natural language, the

number of defined words in a programming language is very
small.

C. The number of defined words in a programming language is
about the same as the number of words in a natural language.

D. There are typically many possible ways to interpret an
instruction written in a programming language.

The chosen statement emphasizes the unique role of programming languages in
providing clarity and precision that is often lacking in natural languages. Natural
languages can be ambiguous, with words and phrases that might have multiple meanings
based on context. This ambiguity can lead to misunderstandings, especially when it
comes to instructions for machines.   Programming languages are designed specifically
to eliminate such ambiguity, allowing programmers to convey precise instructions to
computers. Each command or statement in a programming language has a specific
meaning and follows strict syntax rules, ensuring that the instructions are interpreted
consistently and correctly by the machine.  The other options contain inaccurate or
misleading assertions. While the number of defined words in a programming language is
indeed much smaller than that of natural languages, the suggestion that the number of
words is comparable is incorrect. Furthermore, programming languages aim for single
interpretations of commands to avoid issues of miscommunication, rather than having
many possible interpretations, which is characteristic of natural languages.

4. Which of the following is NOT a characteristic of
blockchain technology?
A. Decentralized nature
B. Immutability
C. Ease of alteration
D. Transparency

The characteristic that is not associated with blockchain technology is the ease of
alteration. Blockchain is designed to be a secure and transparent method of recording
transactions across a distributed network of computers. This technology emphasizes the
immutability of data, meaning once a transaction is recorded in a block and added to the
chain, it cannot be easily changed or removed. This security feature is crucial for
maintaining trust among participants in the blockchain network.  The decentralized
nature of blockchain allows for data to be managed without a central authority, providing
resilience and reducing the risk of corruption or manipulation. Additionally,
transparency is inherent in blockchain systems, as all participants in the network can
access the same information, making it possible to verify transactions and maintain
accountability. Therefore, the notion of ease of alteration directly contradicts the
foundational principles that make blockchain technology effective in ensuring secure and
trustworthy transactions.
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5. What does "user interface" (UI) refer to?
A. The user's experience with hardware components
B. The software's graphical design
C. The means by which a user interacts with a system
D. The underlying code of an application

The term "user interface" (UI) refers specifically to the means by which a user interacts
with a system. This includes all the elements that facilitate user engagements, such as
buttons, menus, text fields, icons, and more, which allow users to navigate and use the
software or device effectively. Good UI design focuses on enhancing the usability and
accessibility of systems, ensuring that users can complete tasks efficiently and
comfortably.  The other options touch on aspects related to UI but do not capture its
definition accurately. While the user's experience with hardware components might
influence their interactions, it is not the definition of a user interface. Similarly, the
software's graphical design is an important aspect of UI but does not encompass the
entire concept, which includes all forms of interaction—not just visual elements. Lastly,
the underlying code of an application refers to the programming and development side,
which is crucial for functionality but is separate from how users interact with the system.

6. What does the character 'V' represent in ASCII, given its
decimal value?
A. A
B. L
C. V
D. Y

In the ASCII (American Standard Code for Information Interchange) encoding system,
each character is represented by a unique decimal value. The character 'V' corresponds
to the decimal value 86. Therefore, when the question asks what the character 'V'
represents in ASCII, the correct answer is indeed 'V' itself, as it directly corresponds to
its representation in ASCII, which is its identity as a character.  The other options, such
as 'A', 'L', and 'Y', represent different characters with their own distinct decimal values
(65 for 'A', 76 for 'L', and 89 for 'Y'). Since the question specifically inquires about the
representation of the character 'V' in ASCII, the accurate answer remains 'V'. This
understanding of how characters are represented numerically in ASCII is crucial in
computer science for data representation and processing.
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7. What does it mean when a system is described as
"decentralized"?
A. It is managed by a single entity
B. It distributes control and data across multiple locations
C. It requires a dedicated server for operations
D. It limits user access to certain features

A decentralized system is one in which control and data are distributed across multiple
locations rather than being managed from a central point. This structure allows for
greater resilience, as there is no single point of failure; if one part of the system goes
down, the others can continue to function. Additionally, decentralization often enhances
security and encourages innovation, as various individuals or organizations can
contribute to the system without needing permission from a central authority.   In
contrast, a centralized system is managed by a single entity, which can create
vulnerabilities and bottlenecks in data processing and access. A requirement for a
dedicated server typically pertains to centralized systems, as they often rely on specific
hardware to manage resources. Lastly, limiting user access to certain features is more a
characteristic of control mechanisms rather than a defining attribute of decentralization.

8. What is an algorithm in the context of computer science?
A. A step-by-step procedure for solving a problem or completing

a task
B. A type of computer hardware used for calculations
C. A programming language used for developing software
D. A method for managing computer memory

An algorithm, in the context of computer science, is fundamentally defined as a detailed,
step-by-step procedure designed to solve a specific problem or accomplish a particular
task. This precision and clarity in outlining the steps make algorithms essential tools in
various computing processes, from simple calculations to complex problem-solving
scenarios.  While other options touch on important concepts in computer science, they do
not accurately define what an algorithm is. For instance, while computer hardware can
perform calculations, it is not a procedural framework for problem-solving. Similarly,
programming languages are essential for implementing algorithms in software
development, but they are not the algorithms themselves. Lastly, methods for managing
computer memory relate to resource allocation and data handling rather than outlining a
sequence of operations to achieve a specific goal. All these serve different roles in the
computing ecosystem, but none encapsulate the essence of an algorithm as effectively as
the correct choice.

12Sample study guide. Visit https://compsciapcsp.examzify.com for the full version

SA
M

PLE



9. What does user experience (UX) in software design refer
to?
A. The aesthetic appeal of a product
B. The overall experience a user has with a product
C. The marketing strategy behind a product
D. The technical specifications of the software

User experience (UX) in software design focuses on the overall experience a user has with
a product. This encompasses various aspects, including how easy the software is to use,
how effectively it meets the user's needs, and the emotions and satisfaction derived from
the interaction with the software.   This definition of UX goes beyond just the visual
aspects or aesthetic appeal of a product, which can be more about graphic design or
branding. While these elements are important, they are only one part of the overall user
experience.   Additionally, UX is not concerned with the marketing strategy or the
technical specifications of the software. Marketing strategies pertain to how a product is
presented and sold, while technical specifications involve the detailed functionalities or
features of the software, which don't capture the essence of a user's experience. Thus,
the correct choice encapsulates the holistic nature of user experience in software design,
reflecting the central goal of creating a product that is enjoyable and effective for users.

10. When representing data, what does the hexadecimal
system allow for?
A. Using 10 digits (0-9) only.
B. Using 16 different digits (0-9, A-F) for efficiency.
C. Representing only integer values.
D. Utilizing binary exclusively for all representations.

The hexadecimal system is a base-16 number system, which means it uses sixteen
distinct symbols to represent values. These symbols include the digits 0 through 9 and
the letters A through F, where A represents 10, B represents 11, C represents 12, D
represents 13, E represents 14, and F represents 15.   This system is particularly efficient
for representing large binary values because one hexadecimal digit can represent four
binary digits (bits). This compact  representation makes it easier for humans to read and
write large numbers and is widely used in computing, especially in programming and
digital electronics, to simplify binary code.  The other options do not accurately describe
the unique aspects of the hexadecimal system. For instance, stating that it only uses ten
digits neglects the additional six symbols unique to hexadecimal. Additionally,
representing only integer values is inaccurate since hexadecimal can also represent
non-integer values and is applied in contexts such as color codes in web design. Claiming
that binary must be used exclusively overlooks the hexadecimal system's role as a
shorthand for representing binary numbers. Thus, option B correctly identifies the
efficiency and comprehensive nature of representation that hexadecimal provides.
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